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Specification Grid — 2081

First Terminal Examination

Class : 9 Subject : Science and Technology F.M.:50 Time : 2 Hours
Working | Group |  Unit Cognitive Level
S.N. Unit Hour wise wise
Marks | Marks K U A HA
15% | 30% | 30% | 25%
1 Scientific Learning 7 7 7
MCQ | MCQ | MCQ |\*MCQ
2 | Classification of Organisms | 6 g+2 | I | 21 | A 3
i V Short | V Short | @ Short | V Short
3 Life cycle of Mushroom 5 14 5+2 1x1 1xT 2x1 1x1
7 Force and Motion 11 15 15 Short | Short | Short | Short
1x2 3x2 3x2 2%2
14 Atomi_c Structure and 13 14 14 g Long | Long Long
Chemical Bond 1x4 1x4 2x4 1x4
Total 42 50 50 8 15 15 12
S.N. Questions Type Marking Schedule Total
1 Multiple Choice Question (MCQ) 7x1=7 7
2 Very Short Questions (VS) 5x1=5 5
3 Short Questions (S) 9x2=18 18
4 Long Questions (L) 5x4=20 20
Total 50 50




First Terminal Examination — 2081

Model Question
Class: 9 F.M.: 50
Subject : Science and Technology Time : 2 Hours

Group A (Multiple Choice Questions) 7x1=7
1. Circle the best alternative:
a.  Which branch of science deals with the study of plants and animals?
i. Physics ii. Chemistry iii. Biology iv. Astronomy

b. A unique organism was found on the bank of Gandaki River which had no well-develeped nucleus. In
which kingdom does this organism belong?

i. Monera ii. Protista iii. Fungi iv. Plantae
¢. Which one of the following is the spore-bearing structure in the mushroom?
I. Trama ii. Sub hymenium iii. Basidium iv, Paraphyses

d. A car starts from rest and after 5 sec. it gains velocity of 20m/s. What is the acceleration produced on a
car?

i. 4 m/s? ii.5m/s?2 iii. 10 m/s? iV, =4 m/s?
e. Which of the following is the application of elastiCity?
I. Shaping the mud into the flowering™pot. ii. Beating iron into sheets.
iii. Shaping the dough into flatbread. Iv. Hitting the shuttlecock with a badminton racket.

f. One day, Pradeep was ordered 1o write some covalent compound on the paper. He wrote some
examples below. Based on thissinformation, which one is the right answer?

i. NaCl ii. ‘MgO iii. HCI iv. CaO
g. ldentify the molecular weight of carbon dioxide.
I. 30amus./ii. 40amu  iii48amu iv.44 amu

Group B (Very Short Questions) 5x1=5
Answer, the questions in very short.

2. What,is'the least count of meter scale?
3. AWVhy'is Metrix prefix important?
4w, “Mention one application of Newton’s Third law of motion.
5¢" Uranium is used in nuclear power plants, why?
6. Complete the following chemical reaction.
Zn + HCI — +
Group C (Short Questions) 9x2=18

Answer the questions in short.
7. Express the numerical value 0.000356 in scientific notation.



10.

11.

12.

13.
14.

15.

16.
17.

18.
19.

20.

Why should we practice scientific learning?

Write the scientific name of Human beings and Garden pea.

Five kingdom system is more appropriate and scientific than the two kingdom system for organisms.
Give the reason.

In Nepal, especially the Ayurvedic doctors give emphasis to consume mushrooms as much as possible for
those patients who are very weak, why?

How can we identify the Nonpoisonous mushroom? Mention any two ideas.

Find the molecular weight of calcium carbonate.

When an electric bulb is connected with a beaker filled with fresh water through wire, it does net ‘glow:
But it is possible when we add some amount of sodium chloride in the water. Why is it possible? Give the
reason.

Differentiate between Reactants and Products.

Group D (Long Questions) 5x4=20

Answer the questions in detail.
Draw the chart of the five kingdom system and give two examples of each kingdom.
Atomic energy has both boons and banes, give reason. Identify the difference between atomic bomb and
Hydrogen bomb according to nuclear fission and fusion.
Explain the formation of covalent bonds in water with figures.
Balance the following chemical reactions.

H2+ O2 — H20

Fe + O2 — Fe203
Study the balanced chemical equation below and answer the questions given.

4Na + 02 — 2Na0

i. What are the reactants and products in.the’Chemical reaction?
ii. Write the number of sodium and oxygenjatoms present in reactants and products
iii. What are the additional information that we know from the balanced chemical equation?

**THE END**



Second Terminal Examination

Specification Grid — 2081

Class : 9 Subject : Science and Technology F.M.:50 Time : 2 Hours
Working | Group |  Unit Cognitive Level
S.N. Unit Hour wise wise
Marks | Marks K U A HA
15% | 30% | 30% | 25%
1 Scientific Learning 7 2+72
7
13 | Information and 14 5+2
Comn?nu_nlce_ltlon Technolc_)gy MCQ | MCQF{MCQ | McQ
2 Classification of Organisms 6 5+2 1x1 2%1 1x1 3x1
3 Mushroom 5 13 3+2
- V Short”| V Short | V Short | V Short
4 | Evolution 6 S+2 | (g 1x1 2x1 1x1
7 Force and Motion 11 7+2
8 Simple Machine 5 4% 2 | Short | Short | Short | Short
12 - 1x2 3x2 3x2 2x2
9 Energy 8 6+2
14 | Atomic Structure and 13 6+2 | Long Long Long Long
Chemical Bond 1x4 1x4 2x4 1x4
15 | Chemical Reaction 6 13 3+2
16 | Some Gases 6 4+2
Total 87 50 50 8 15 15 12
S.N. Questions Type Marking Schedule Total
1 Multiple Choice Question (MCQ) 7x1=7 7
2 \/ery Short Questions (VS) 5x1=5 5
3 Short Questions (S) 9x2=18 18
4 Long Questions (L) 5x4=20 20
Total 50 50




Second Terminal Examination — 2081
Model Question

Class: 9 F.M.: 50
Subject : Science and Technology Time : 2 Hours

ok wd

10.

11.

Group A (Multiple Choice Questions) 7x1=7
1. Circle the best alternative:
a.  On which orbit of the earth does the navigation satellite is launched?

I. low earth orbit ii. Geostationary orbit
iii. medium earth orbit iv. Geosynchronous orbit
b. The reason behind the mushroom called saprophytic is......
I. It does not prepare its food ii. It takes its food from dead and decayingumatter
iii. It depends to other for food. Iv. It absorbs its food from organism

c. Study the following graph, which represents the constant velocity?

o R
™~ .y

d. A goat gives birth with two head kid. What kind of abnermality is this called?

I. Evolution ii. Heredity,
iii. Mutation iv. Variation
e. The efficiency of a pulley system is 50%. I1f.M.A\is 4 than V.R. to be
i. 8 ii. 8N
iii. 8% iv. 8cm
f. Inamolecule of calcium bicarbonate, thewvalency of bicarbonate is
. 2 ii. 1
iii. 4 iv.5
Group B _(Very Short Questions) 5x1=5

Answer the questions in very short.
Teacher gives you a sample of bacteria. In which kingdom do you prefer it?
Velocity ratio of a machine is 2. What does it mean?
The thermonuclear fusion is possible in the sun but not in the earth, why?
Name two alternative sources of energy that are suitable in the context of Nepal.
In the givenichemical reaction  Fe + CuSOs —— FeSO4 + Cu

Name.the product and reactant.

Group C (Short Questions) 9x2=18

Answer the questions in short.
Write the 0.0000000214 in scientific notation.
Grishma found some mushroom in her garden. Suggest her how can she identity those mushrooms are edible
or poisonous.
How can you explain that the horse and human beings are evolved from the same ancestors? Give your opinion.
Darwinism is still not a perfect theory in explaining evolution. Do you agree with this statement? Why? Or
why not?
Sandesh beats the carpet with a steak. He observed that dust particles come out of the carpet. What might be
reason behind it.




12.

13.

14.

15.

16.

17.

18.

19.

20.

Observe the given figure and calculate it. ©
b«

i.M.A. ii. V.R. / /]\

o o 2
& > '

Convert the given word equation into balanced formula equation.

Ammonium chloride + Calcium hydroxidle —— 3 Calcium chloride + Ammonia + Water.
Which gas is used in the production of VVanaspati ghee. Draw a well-labelled diagram of laboratory preparation
of that gas.

As we heard news from different seminars held in the world the ozone layer is depleted. What-is the main
reason behind the ozone layer depletion and how can we protect the ozone layer?

Group D _(Long Questions) 5x4=20
Answer the questions in detail.
You are connected to your family, friend all around the world through telecommunieation. What is the principle
behind it? Do you have social account like Facebook, Instagram account? Give a thought about what kinds of
activities should not do in digital social platform.

Study the given diagram and identify the kingdom of organism and givereason why it _i;g\»‘:f )2),
belongs to that kingdom. Q.) & 2
There are different methods of classification of organism»But, among them ‘?f-—i__r\s

the five kingdom system of classification is accepted the most: Discuss any two

significant behind it.

State the Newton’s second law of motion. Smriti want§ to-measure the height of building of her school. She
dropped a stone from the top of a building with a velocity-0f 50 m/s. If the stone takes 2 seconds to reach the
ground than what is the height of the building.

In rural area must of the people keeps cattle far-agriculture and running their life. How can they manage the
dungs of cattle for producing bio-gas. Explain with figure.

Study the following table and answer the question that follow.
Name of elements~ | Electronic configuration
A 2,8,7
B 2,81
C 2,8
D 2,8,8,2

I. Name the.elements C and D

ii. What.isithe valency of elements A and B. And why?

iii. Name.the compound formed by the combination of A and C. Also write the type of bond exist
between them.

**THE END**



Specification Grid — 2081

Third Terminal Examination

Class : 9 Subject : Science and Technology F.M.:75 Time : 3 Hours
Working | Group | Unit Cognitive Level
i Hour wise wise
>N unit Marks | Marks K U A HA
15% | 30% | 30% | 25%
1 Scientific Learning 7 3+2
10
13 | Information and 14 7+2
Communication Technology
2 Classification of Organisms 6 4+2
MCQ | MEQ. MCQ | MCQ
3 Mushroom 5 3+2 | 2x1 4x1 2x1 2x1
4 | Evolution 6 19 342
5 Life Process 16 9+2
7 Force and Motion 11 7 +2 %V Short | V Short | V Short | V Short
. - 2x1 4x1 2x1 1x1
8 Simple Machine 5 At 2
E + 2
9 nergy 8 26 6+
10 | Waves 14 9+2
. Short Short Short Short
14 | Atomic Structure and 13 7+2 | 9x2 3x2 5x2 Ax2
Chemical Bond
15 | Chemical Reaction 6 3+2
20
16 | Some Gases 6 4+2 Long Long Long Long
17 | Some Metals ahd*Non- 5 2+2 | b 2x4 2x4 2x4
Metals
18 | Carbon.andts Compound 6 4+2
Total 128 75 75 12 22 22 19
S.N. Questions Type Marking Schedule Total
1 Multiple Choice Question (MCQ) 10x1=10 10
2 Very Short Questions (VS) O9x1=9 9
3 Short Questions (S) 14 x2 =28 28
4 Long Questions (L) 7%x4=28 28
Total 75 75




Third Terminal Examination — 2081

Model Question
Class: 9 F.M.: 75
Subject : Science and Technology Time : 3 Hours

Group A (Multiple Choice Questions) 10x1=10
1. Circle the best alternative:
a. What is the power of 10 in the prefix Giga?

i.9 ii. -9 ii. 12 iv. -12
b. Which of the following is the way of handling cyberbullying?
I. follows the person in social media ii. inform parents or teachers
iii. get in a fight with the person iv. delete the messages
c. Which of the following is the sterile tissue present in gills?
i. mycelium ii. basidium iii. paraphysis iv. trama

d. Statement: Dinosaurs got extinct.
Reasons: a. Lack of food
b. Decrease in temperature
Which of the following reasons are correct?

i.onlya ii.only b iii. bothaand b iv. none of them
e. What must be the radius of axle if the diameter of wheel is 40 cm and its velocity ratio is 4?
i.5cm ii. 10 cm iii. 20 cm iv. 160 cm
f. Match the following:
Column A Column B
A. limited resource a. non-renewable sources
B. Unlimited resource b. Alternative sources
C. Can be used instead of renewable energy c. Renewable sources
i. Ab, Ba, Cc ii. Aa, Bc, Cb iii. Aa, Bb, Cc iv. Ac, Ba, Cb
g. Which of the following is the characteristic of Fluorine:
i. Non-metal, valency: 7 ii. Metal, valency: 1
iii. Metal, valency: 1 iv. Metal, valency: 7

h. What must be the values of 'x' and 'y' for the given reaction to be balanced?
XKCIO3 —m> 2KCI  + yO»

I. x=1; y=3 I x=2; y=1 Ii. x=2; y=3 iv. x=3; y=1
i. Metals are good conductor of electricity because:

I. They are malleable ii. They are sonorous

iii. They have bonded electrons iv. They have free electrons

J. Which of the following compound of carbon has catenation?
i. Carbon dioxide ii. Methane iii. Carbon- monoxide iv. Hexane



Group B (Very Short Questions) 9x1=9

Answer the questions in very short.

2.
3.
4.

Why are mushrooms called saprophytes?

What evidence is obtained from the study of embryos of human, chick, fish, horse?

A woman has developed symptoms like hair loss, constipation, confusion, weight changes, etc. Which
hormone might be responsible for such symptoms?

. State Newton’s first law of motion.
. What is the distance moved by effort in an inclined plane having length ‘x’ units and height ‘y’ units?
. Pradip kumar Rai is a prosperous farmer residing in one of the villages of Terai region of Nepal. He owns

some cattles and does sugarcane farming in his field. Mention any 2 alternative sources of energy that he can
produce at his home.

. Sagar sir wanted his students to identify various waves as longitudinal wave and Transverse wave. His

students classified sound wave and ripples produced in water as Transverse wave and light wave and waves
produced in slinky spring as Longitudinal wave. Correct the mistakes done by students if they did any.

. Why carbon is a reducing agent?

Group C (Short Questions) 14x 2 =28

Answer the questions in short.

11

12.
13.

14.
15.

16.
17.
18.

19.

20.
21.

22.
23.
24.

. A rectangular garden is 2000 cm long and 1500 cm wide, then calculate its area. Also Express your answer
in scientific notation.
Differentiate between: F.M. and A.M.
During the observation of permanent slide of organisms by Ram, Ram found a slide of organism without
definite nucleus. Name the kingdom to which the organism belongs to. Also write one more character of that
organism.
Who is said to be the father of taxonomy? Why?
Hari collected two different species of mushroom from the nearby forest having following characteristics:
i. White gills, yellow slime in the pileus
ii. Presence of rings and volva in the stipe, brightly coloured
which of these mushrooms are edible and poisonous?
Differentiate between: Homologous and Analogous organs
Observe the given tissue and name 'A' and 'B'. Write one function of this tissue.
‘The efficiency of a simple machine is 80%".
What does this statement mean? What can be done to increase its efficiency? Write any 1 method to do so.
If you have a pulley, rope and wooden support, how can you combine them to draw water from well. Show it
with a well labelled diagram. What type of pulley is it?
Define wavelength and frequency.
Hari has a broken limb due to an accident whereas his wife Urmila is pregnant. They both went to hospital
for treatment. Which medical imaging technique would you suggest them to get appropriate diagnosis, Why?
Write the molecular formula of Ammonium chloride and calculate its molecular weight.
What are the informations obtained from balanced chemical equation?
Identify the given allotropes of carbon and also state whether they are crystalline or amorphous:
I. Black in colour, non-lustrous, used as fuel in various industries.
ii. Black in colour, lustrous, used to make lead of pencil

A

s

c



Group D (Long Questions) 7x4=28

Answer the questions in detail.

25.
26.

217.

28.

29.

30.

31.

What are the steps of creating Gmail account? Mention all the necessary steps.
Answer the following questions on the basis of given diagram:
I. Which phenomenon is shown in the given diagram?
Ii. Write any two applications of this phenomenon in our daily life.
iii. If the velocity of sound in air is 1500 m/s and time taken by sound to
return back to the source is 4 seconds, then calculate the depth of ocean.

Answer the following questions on the basis of given diagram: M
I. Write any two functions of part A. S —
ii. What happens when part B gets injured. ,«;ggﬂ A

iii. Which action is controlled by part D.
iv. Name the part C.
I. Mention the action and reaction force in given conditions: —
a) Launching of rocket b) Swimming in river '
ii. An apple falls down a tree and reaches the bottom of tree after 3 seconds. Calculate distance travelled by
the apple in that time.

Draw a diagram to show the construction of biogas plant. Write any 2 advantages of using biogas.
Answer the following questions on the basis of given diagram:

i. Which compound is shown in the given figure. TR S 7

ii. Name the bond shown in the given diagram. (H & ‘o) e H

iii. Write any two properties of this compound. : . ® '.

iv. Name any 2 more compounds having such bonding.
Stratosphere of Atmosphere contains a protective layer that protects life on Earth from the harmful radiations
of Sun. Based on this answer the following questions:

i. Name the gas which helps in this action?

ii. Write balanced chemical equation for the formation of this gas naturally.

iii. Which air pollutant is the major cause behind the destruction of this gas?

iv. What effects are seen after the depletion of this layer of gas? Mention any 2 effects.

**THE END**
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FHAT 999 (Model question)
fawa : fasmer g 9faf (Science and Technology)

T R qUIEE @ 9%
Y7 1 F (Group A) FHYT (Time): 25 Minutes.
FgAFF FeEE (Multiple Choice Question - MCQs)
TS TEAH! TE AT il & (0) TSR | o x9=190

(Circle the correct answer to the following questions)

1. raE== T qnT FLOX G 9D T gEidies $E FF T 9871 ? Eukaryotic
organisms that obtain food by decomposing the body parts of organisms belong to
which kingdom??

A. ufaafaar animalia)

B. wwag (fungi)

C. W7 imonera)

D. 9ifZ%1 (protista)

2. fagust Parare w9 faraat g ST g &9
AAFN I T AfFE 7 Which information about
evidence of organic evolution can be obtained from given
picture?

A. el a9 ufEd Feta WUF FAEF AAFIT 9 take | |

information about organism originated millions of

years ago)

B. #ieewr w1 SFesal a1 Furw 79 determine
the age of existing organism)

C. Wag=# FWEA 7 W=ar gar dmsa (find

similarities and differences between organism)
D. 7% Az q@Ei@ qArEel @ (et information about ancestors of different groups)
3. aft uger fawamae oF sgew Frafedr @ o fasarar &t 3792 2@1 99 7 1 all the xylem
tissues are removed from a plant, what effects will be seen in that plants?
A. Uil 7 @fFsE gaw 7 g aifEE FEe nE f@Ear F9E 293 | (Lack of water
supply and mineral and less mechanical strength make plants weak.)

B. @FE FW yAR 7 qifers afdEr sde 12 fasar @997 €78 1 (Lack of food supply

and less mechanical strength make plants feeble.)



C. gt 7 @fAwia @21 yae aar a=9&e 98931 Fvid fa#ar afadl 273 1 (Fast supply of

water and mineral and more rigidity make plants strong.)

D. &frw 7 afrasoar 4% yarg wuard 7 97 @U@ quF faFar 96 27 1 (More

supply of minerals and chlorophyll and more flexibility make plants yellowish)

4, faua fezva #Ea &9 9242 F9278 7 Which substance is commonly used in heating
coil of electric heater?
A. AEFH™ nichrome
B. 2 (tungesten)
C. #ewni=aW aluminium

D. &=t copper:

5. wFd y9« e ave &9 wAE 990a 0

Which of the following statement is correct about single fixed pulley?

A. ufa 79rd 1 23 1 (Velocity ratio is one.)

B. AAF WIEZ& Wi UHAT A1 738 | (Mechanical advantage is greater than one.)

C. ¥ 3% @ved @18 4@t 78 | (Load is supported by two rope segment.)

D. @rget 17 9 Frer gRrdd g7 A 2 drev 2981 (Distance moved by load is twice

velocity in last 50 s motion,
A.
B.
C.
D.

of the distance moved by effort.)
6. TEramT TEILUE! FATATEIY ARG WE AAGF T Afw 50 s 7 ZA i
#FiA 78 ¢ Study the given displacement-time graph to find the

e

0.4 m/s
2.5 m's
-0.4 m/s
-25m/s

7. H=AW AIYUFATE FA HAHT 99N W77Z ¢ In which orbit the communication satellites are
launched from the earth?
A. FTET F4 (geostationary orbit)
B. Fwt q&ft %41 (Jow earth orbit
C. 7AW g2 #49 imedium earth orbit)
D. Fraifa=HTaa %4 geosynchronous orbit

vy



8. [ gvpEFiaam a1 dred THEAHE AGTHT FAH TEA AUEN FI=ET T4 579G 7
On the basis of the nature of the bond formed in the following molecule, which of the
molecules has a high boiling point?

A. Ha
B. Ch
C. HCI
D. MgCl,
9. TAAHT FA ATIH FHF FE FE 7 Fg3T 9 4% @@ 7 Due to lack of which metal
in the blood, even walking a short distance causes fatigue?
A. Potassium
B. Iron
C. Sodium
D. Calcium
10, FFF WA T THEF ATHEAS FEAE FEAEE qUEE F973E ¢ Which of the
following could show reducing nature of carbon?

A. FEFaZ F14122 9+ (formation of carbide from carbon)
B. #FETaZ F1dw SIEH#ZE a1 (formation of carbon dioxide from carbon
C. #FE=arz #1a4 HrAF#es 3 (formation of carbon monoxide from carbon)

D. FEa#1 guieatant v daargeaz e 9+ (formation of iron from ferric oxide in

presence of carbon



9% (&) (Group B)

qEH GEAH A BE JA ORI

ExiI=1

I. Fnfas faerg f weeaaot wifa=g ©  Why scientific learning is important ?

gAfAT w9% F 71 * What is inertia ?

2

3. TEIAZH T UIA Hewd deferd | Write an importance of internet.

4. Taam fagq =@ 2992 electromagnetic spectrum) F1 @VEFEATE GIFHIE FATAHI
yrafad ww fqave afgus g & avgeeard @ Fuw mardn aafam g s

qvdTEa faga TEdE e 37 ¢

There are different sections of an electromagnetic spectrum shown the given figure with

zigzag order of frequency. In which order the given sections should be arranged to give a

simplified electromagnetic spectrum based on frequency?

A R C

LT | AVAVAVAVARVAVAN

D E

5. e [AgAEOTE 9AW g9 F2d A Wewqu HiAeg, @9 ¢ Neutral wire in domestic

wiring is important, why?

6. WATTITEATH] BTEEIAA WH TV G TR §H THEAEEE] AT d&129 | Write the name of

chemicals used in laboratory preparation of hydrogen gas.
7. aAF ANGEAT FE WHFFF AVHT AAFET ZEZ0F E 1 The below table presents some

information about some gases.

AT iE Jearee fafr
(laboratory preparation of a gas)

wig®r géEor fafr (testing method of the gas)

A. FFTAT aTqF FA7ZaTE aare? (by
heating chlorate of alkali metal)

‘99" y1ETT 4138 | (When a burning match stick
is brought in contact with the gas, it gives a
‘pop” sound,

B. forg# araeng e swas gfatsmar
7 (By reacting zinc metal with
dilute acid)

FEATHT GEdl 7% gal & | (When a burning
magnesium is inserted into the gas jar, a yellow
powder is formed after sometime)

#i#=2 ¢ Based on this, the gas produced in the first column can be tested by which method

written in the second column ?

el



8. fawarer a3 Fig@ @11 NasPOs =21 (NH2),CO #1 9411 714 717=g, [ ¢ Why is the
use of (NH1)2CO preferred over Na:POy for the rapid growth of the plant?

9. faam Zarzus wsaw gfafuat gdra wwwr Esara @ fagr o
FIHET—> ATA—Ta7) F99 @r wuF @ ¢ How is the principle
of telecommunication (transmitter—channel—receiver) applied while

using the communication technology shown in the given figure?

e (M) (Group C)
TAHT TAS! BT I AR 9% X 3= 3%
10. (a) 0.0000025 @E F1i7® Ag@a=a1 @&g@| | Write 0.0000025 in scientific notation.
(b) 10 cm ®1% f@aazeaT afvad= T | Convert 10 ¢m into kilometer.

11. W &9 32 fa9marE® d&@E | Write any two characteristics of Monera.

12. 7701 73F GIEAE WOH [ A9 =43 7 Jar a7 A9arE e 99F w43 A 4
=13 @ F9LF Z78 ¥ YTHEE | Explain which mushroom is suitable for eating between
the mushroom with red pilus and the mushroom without worms and the white mushroom
surrounded by ants.

13. FTHIGRT 7 UATERE #3EE @9 g2Erer ierar @& | Write any two differences

between homologous and analogous organs.

14. fafrmd usEr BFaag w9 JArsT @F A 2o aieiEEa | et aaEEad TEEs
ATATHT AHFT F FATIA FA FHI FOAF WUFT AT ATRAT TAEH | Sirisha pluck out the
tip of a plant to make it bushy. Based on understanding of plant tissue, explain how will it
grow bushy?

15, WEiEET WA F @ ¢ GaF Uga FuAnTal @eferd | What is plasticity? Write one
application of plasticity.

16. T27A2 HiAdT AUH AUEH FPAZTE SEHEIAT WUH! U320 letter ATHFN HIgd ATAF email
T FH USIA 78 ¢ ATAAF 9 JINEE AETEA |
How do you send a file named "letter” from your desktop connected to the internet to
your friend? write all necessary steps.

17. AT AraT9FF FIEE T@IGT GErarZ 47 9TEH | Make a flow chart to show different

steps in lifecycle of stars.



18, nfra=gg Wrgasa (AM) 7 R Arggasd ( FM) e 22emer feesrae® asT@E | Write
two differences between amplitude modulation (AM) and frequency modulation (FM).

19. FTE 299 Z9 a9# g 2.7 g 7 949 29 F9F W92 56 g 770 | 29 299 ="eaan
a4 29 ArEZ ATl 8 | F9E! [UvE 7 I a9 eEaa T g9 A ATFH ArgAaas
TS TAAATH FATE ATIHT AT T | Generally, mass of a table tennis ball is
2.7 g and that of lawn tennis ball is 56 g. The lawn tennis racket is longer than table tennis
bat. Explain the relation between mass of ball and the size of corresponding bat/racket on
the basis of the law of inertia.

20. 321 FEg@ (Slinky #1 94TERE @3Rr=AEgad a3 #9490 I T34 A1%5g ¢ How can
a longitudinal wave be produced by using a slinky? a= HeFa

2|, afawmr fazgust aw 7 Hewaae 3= 53, wF AfFEE A Element Radical

oA Mg OH
A A | I AE AAE WA QO T | Write | e
3

molecular formula of any two compounds formed by the

element and the radical given in the table. Calculate the molecular mass of anyone of the

compound.

22, LS, ATEZAA T AGH AAES Wl TA 3% ACAB! HATAAAZ A ANTHFA A TZATE
A g | 3E diE 9 7 A1 AfEd deiE e FAw a9 s geida TEnEhe
aHrET d%TEH | Ozone layer depleting compound is formed by the combination of any
two elements among Hydrogen, Nitrogen, and Oxygen. Write the balanced chemical
equations for the process of forming the compound and depletion of ozone layer caused by
the compound.

23, UHIVITAE I |9 AUFH AT FAIE FAVATE FARNAA FEAFAEIHN qAATIE FA WAH
<3 | which gas is produced whenchlorate of an element having atomic number 19 is
heated with manganese dioxide ?

i FHT AAF W 7 HAFAAT AAGF FAEH] EA THAAF GAHATE Fiad THaias
FHrF7 F&TEE | Write the balanced chemical equation when the gas thus obtained
reacts with glucose under the required conditions.

ii. 99 WiHATE 9 9T 93192 F %78 ¢ What would happen when the gas is passed

into a vessel containing lime water?

vy



¥ (9) (Group D)

TAAET GEABEH! ATHI I ASTATY | ¥ XY¥=23g
24, 7 AIF IHE qI7 GFIF OF UF A2 F4 FSR1H | Write one function of each of the

four major types of animal tissues,

25, FiFT fa7 A 7 B W wivieataE

@ | Energy transfer in an b
‘
ecosystem is shown in the -

alongside figure A and B. H ‘ ﬂ P ,

1L

A7 BT F B i

AR | Write a difference between figure A and B in terms of energy transfer
| mark

4z g 8 F1 Miieatas quneEmn o 7 WATE FgE AN EYT 24 99 35
giirfeafa® yurETAT F %97 2f@=3 ¢ What effect will be seen in the ecosystem if the
number of rabbits and rats are suddenly increased in the ecosystem shown in figure
B? 1mark

7 B W1 72% HAS ZI%F @wd =Tl T4 | Explain the trophic level of rat in
figure B. 2 mark

26. (F) FZAZ HAA HANI WUF FeAwedArE 6 V & @A A gFra w2 a2 Afuwan
AfrFE] THE TS AR ¢ I ALH 2@r3q [@9d 9ggF@ =T FHE9 | How can be

connected the given two bulbs of identical resistance with a battery

of 6V to glow them with maximum brightness? Draw circuit diagram

showing that connection.

(@) T ZETeuE e aeaE w2 Ao IgEE a9 e 8 0

FAT WUF ATAFF T2 SIAIF WA w7F feAa WA 1 Find the potential
difference across two terminals of B (1 resistor connected as shown in the given diagram.

27.UH 7 7 HeZTATSEH] GATTA WIAF A AFAT FH AEA AUH F ¢ UFUF FE@IVIHIES

=@t TR | How the use of X-ray and Ultrasound has made it easier for human organ

diagnosis? Explain with an example of each.

»



28, ANAF! UTHEAF FTAF FEEAAT [FEUF TATIF AATA T TS GIAF FO7 A | Study
the given data regarding natural resources of Nepal and answer the following questions.
WRTITEF =THT A6 A 287 FT9T FATIHT Faterd 3| Fet F9ur 927 300 faqee=n 34
AT FAF AEHAT AT A W, | ST AUAER AN 44 % AT ATATAA AFE B |
FETH FAAN 66 % WIAH FU IHTHT AF B9 | Geographically, Nepal is located at

about 28° Northern latitude. There are about 300 sun shine days in a year. Nepal has
almost 44 % of the land occupied by forest. About 66 % of people in Nepal are involved

in agriculture.

() AT AN FIAFT T FA TE AFIF FAIF GrAwE GF A | Suggest any two
alternative sources of energy appropriate for Nepal.
(@) TUIEF! AW FATEAA AT FA WA F1 FA9 92 T9E74 ¢ How can you justify that

your suggestions are applicable?

29. faguat farar sorga o AifavEr gy 397 faaade
a. FEamr g gvump Fraar WEE g, #4999 ¢ In the /’:—:\
given figure, atomic structurer of a metal is shown, / ,i":. ’\.\\'-._ \\
how? f, ( ‘\ @ f ) :+
b. 3% WHNEH FLHA | &8, 9 * The valency of “'\\_\‘-: f_”.'/:f'/_‘/'/
that element is 1, why? U

c. 3% YTHNE FAEE fAu @1 Rww FH0 mEaEe
giai#a1 7@ ¢ How does the atom take part in
chemical reaction; by gaining or losing the electron?

d. FF YT FAHN TEmataE gfatEar mE a1 JUE AT JEEE | Write the name
of molecule formed by reacting it with chlorine.

30. U @A A @ann qra qugstE e\ @d " a7 At | 5ra 9an 19 a7 q941

FEIEA FH £2 WAl | G [FATAATE AT JoAEA q@GA T4 A7 1T @A 1 A farmer

has been cultivating only paddy in his field for a long time and continuously using urea.
But the production has been decreasing every year. Give him any four suggestions for

better production.



